Renfrewshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 10 - Houston Crosslee and Linwood

5,609

4

1,122

Stage 1

| Candidate Name | Affiliation | No. of Ballot Papers |
|--------------------|------------------------------------|----------------------|
| Alison ANN-DOWLING | Labour and Co-operative Party | 1,568 |
| Connor CUNNINGHAM | Labour and Co-operative Party | 515 |
| Audrey DOIG | Scottish National Party (SNP) | 1,172 |
| Robert INNES | Scottish National Party (SNP) | 1,020 |
| David MCGONIGLE | Scottish Conservative and Unionist | 1,334 |
| | Total | 5,609 |

Candidate Alison ANN-DOWLING Elected with 1,568 votes, being in excess of the quota of 1,122 Candidate Audrey DOIG Elected with 1,172 votes, being in excess of the quota of 1,122 Candidate David MCGONIGLE Elected with 1,334 votes, being in excess of the quota of 1,122

This report contains the transfers results.

Stage 2 - Surplus of Alison ANN-DOWLING

446.00000

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Connor CUNNINGHAM | 1,386 | 0.28443 | 394.21998 |
| Transfer to Robert INNES | 46 | 0.28443 | 13.08378 |
| | | | |
| No further preference | 136 | 0.28443 | 38.68248 |
| Not transferred due to rounding | | | 0.01376 |
| | Total | | 446.00000 |

This report contains the transfers results.

Stage 3 - Surplus of David MCGONIGLE

212.00000

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Connor CUNNINGHAM | 761 | 0.15892 | 120.93812 |
| Transfer to Robert INNES | 32 | 0.15892 | 5.08544 |
| | | | |
| No further preference | 541 | 0.15892 | 85.97572 |
| Not transferred due to rounding | | | 0.00072 |
| | Total | | 212.00000 |

This report contains the transfers results.

Stage 4 - Surplus of Audrey DOIG

50.00000

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Connor CUNNINGHAM | 51 | 0.04266 | 2.17566 |
| Transfer to Robert INNES | 1,044 | 0.04266 | 44.53704 |
| No further preference | 77 | 0.04266 | 3.28482 |
| Not transferred due to rounding | | | 0.00248 |
| | Total | | 50.00000 |

This report contains the transfers results.

Stage 5 - Exclusion of Connor CUNNINGHAM

1,032.33376

| Action | No. of Ballot Papers | Transfer Value | Votes Transferred |
|---------------------------------|-------------------------|----------------|-------------------|
| Transfer to Robert INNES | 165 | 1.00000 | 165.00000 |
| Transfer to Robert INNES | 396 | 0.28443 | 112.63428 |
| Transfer to Robert INNES | 125 | 0.15892 | 19.86500 |
| Transfer to Robert INNES | 35 | 0.04266 | 1.49310 |
| | | | |
| No further preference | 350 | 1.00000 | 350.00000 |
| No further preference | 990 | 0.28443 | 281.58570 |
| No further preference | 636 | 0.15892 | 101.07312 |
| No further preference | 16 | 0.04266 | 0.68256 |
| Not transferred due to rounding | | | 0.00000 |
| | Total | | 1,032.33376 |